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1. BREBBROE
(1) TBEINEE
BEEEERALE 983, 090 983, 244 A 154
BEEEFR 71,200 71,356 A 156
EH - H5E 975, 890 975, 888 2
ZMEE 8, 665, 000 8, 774, 000 A 109, 000
EREZD=E 8, 364, 000 8,473, 300 A 109, 300
= UES= Bl 301, 000 300, 700 300
BRI 105, 000 105, 000 0
[G#R 1 THEEINEE 105, 000 105, 000 0
SHMAMESF 6, 341, 200 6, 341, 200 0
LXEHYE 6,021, 200 6,021, 200 0
B EHBE 320, 000 320, 000 0
ZMAaEE 2,925,198 3,067, 608 A 142,410
ZMEERE 2,399, 198 2,535, 608 A 136,410
IEJEEEE 526, 000 532, 000 A 6,000
SMFEHE 322,679 322,679 0
ZMFMHE 15,000 25, 000 A 10,000
5&€ 307,679 297,679 10, 000
AN E 1,016, 970 919, 991 96, 979
MU AT 1,016,970 919, 991 96, 979
(FEUNEEET] 20, 359, 137 20, 513, 722 A 154,585
(2) BEEHR

EE Ly 16, 893, 454 17,126, 347 A 232,893
ZEBWRUVIREFH 4,602, 623 4,627,027 A 24,404
REHBASIHERA 446, 488 446, 488 0
BRAIELEE 706, 628 706, 628 0
WREXEE 1,184,947 1,223,988 A 39,041
BIEERE 540, 110 626, 407 A 86,297
HEER - REHERE 573, 360 562, 297 11,063
FNRIRARE 695, 758 841,592 A 145,834
=58 120, 893 130, 074 A 9 181
RIEH 21, 408 21, 408 0
Bk 158, 000 158, 000 0
E=%] 2,810, 655 2,760, 105 50, 550
RE 307,120 307,120 0
b2k 933, 000 933, 000 0
HMEEEEEXE 789, 750 795, 963 A 6,213
EBERE 1,231,712 1,231, 247 465
BRENE 770, 830 770, 830 0
N i RN 191, 066 191,067 A1
HE 809, 106 793, 106 16, 000
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EEE 4,135, 445 4,141, 965 A 6,520
e 603, 182 639, 404 A 36,222
FEREE 5, 431 5, 431 0
REHRMEVHEEFH 1,268,070 1,274,792 A 6,722
BERMASIAERRA 123,012 123,012 0
BAELE 194, 683 194, 683 0
REXEE 95, 169 98, 448 A 3,279
BIEEME 230, 515 230, 254 261
HEM - FERRE 143,970 144, 209 A 239
RIS AE 115, 329 114, 882 447
258 17,741 17, 746 1
PRI 2,592 2,592 0
EitE 115, 011 115, 011 0
bEN=EiEk 282, 800 258, 800 24,000
EHMEEE 339, 270 339, 220 50
BImEEE 94, 363 94, 363 0
PNFRER 23,134 23,133 1
=& 150, 000 150, 000 0
SHNERE 10, 000 70, 000 0
ME 261,167 245, 985 15,182

(REEA] 21,028, 899 21,268, 312 A 239,413

(AR E IR REE] A 669, 762 A 754,590 84, 828
2. EEINMERDER

(1) EESRE
(#2HESMRRE] 0 0 0

2) BEHNEH
(#RHE5E RG] 0 0 0
(SHIRESEREE] 0 0 0
(%2518 = 5 — AR IE R B EE 1B IR ER ) A 669, 762 A 754,590 84, 828
FEABL. ERBRUVUEER A 80, 000 A 80,000 0
(=5 57— AR IERRBA EE 1B IRIER ) A 749,762 A 834,590 84, 828
(—REKHMEHEES] 47,060, 363 417, 060, 363 0
(—RERMEHRRES] 46, 310, 601 46, 225, 713 84, 828

I 357 IERMERRDER

(= HE % IE R B EE 1R R AR ) 0 0 0
(EEERMEHNEES] 0 0 0
(EEERMEHRES] 0 0 0
I ERBMERRES 46, 310, 601 46, 225, 713 84, 828

2 "=




